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QUESTION 1

LLL| (3x-6)x+5)=0 vx=2

x=2 orx=-5 Vx=-5 )
L1211 7x* +4x-9=0

v'substitution
4)£(4) - 4(7Y-9)
2(7) v x=0.88

x=088 or x=-1.46 Y x=-146 3)
1.1.3 (3—x)(x+7)<0 v'critical values

cvix=3 or x=-17 Ve or x53

x<-=7 or x>3

3)

or

—(x=3)x+7)<0

(x=3)Nx+7)>0

x=3 or x=-7

x<-=7 or x>3
114 ] 3 /573 5=

3Jx+3=x+5

(BVx+3f =(x+5)

9(x+3)= x> +10x +25 v'squaring both sides

9x+27=x" +10x+25 v standard for

¥ +x-2=0

(r+2)x-1)=0 v'factors

x=-2orx=1 v’ Answers

Both valid answers 4)
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1.2

y=3x+2...~1)
l+§:_4

y X

! +§=—4
3x+2 x

x+3(3x+2)=—4(x)3x+2)
x+9x+6=-12x" —8x
12x* +18x+6=0

2x* +3x+1=0
2x+1)x+1)=0

v'Substitution

v'standard form

v factors

v x-value(s)

x=——or x=-1
2
-1
y=3(7j+2 or y=3(-1)+2
1 v'y-value(s)
=— ory=-1 Y
Y72 > 5)
1.3 2% 3
)
x=3 _ Ay-1
r ¥ V27 =3
2> 3 vVx=3
2x—3_3y—1
x=3=0 y-1=0 vy=l
x=3 y=1 v’ Answers
x+y=3+1=4 4)
[22]
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QUESTION 2

2.1.1 | 81;x;y:3
a=281
a+3d=3
81+3d =3
3d =-78
d=-26
x=81-26
x=355
y=55-26
y=29

v'81+3d =3

v d=-36

v x=55

vVy=29
“4)

212 | 81;x ;y33
a=281

v8lr=3

(4)
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22.1] 661 ; 591; 525 ; 463
~70 66 —62
4 4
2a=4
a= 2 v a= 2
3(2)+b=-70
b=-76 vVb=-76
2+(=76)+c=661 v oe73s
c=1735 v Answer
T =2n"-76n+735 “4)
2.2.2 B —(—76) v’substitution
2(2)
\/ =
n=19 n=19
T, =2(19) —=76(19)+ 735 v Answer
=13 3)
2.3
S = %14[261 +(2014-1)d]
3029+ 6050=1007(2a +2013d)
2079 54 42013d.....(1) ¥ equation 1
1007
3029= @(m +(1007-1)2d)
8058 1 2012d.....(2) ¥ equation 2
1007
H-(2
=02 v Answer
[18]
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QUESTION 3

3.1 63+2147......... vexpansion
21 7
y=—=— 1
1 3
r=—
3 !
1 vV-l<—<1
-l1<=<l1 3
3)
32 i7 -k
k=m
a =7‘32—m \/a=7.327m
_a
Yo T 1, v'substitution
2173
2 1_1 v'simplification
3
14214.327’" \/1:3me
1=3*"
30 _g2m v Answer
m=2 (5)
8]
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QUESTION 4

41 | y=-9 v Answer
1)
42 | y=3"-9 v'substitution
y= -8 v
y=-8
A(0;-8
(0;:-8) 2)
43 1 0=3"-9
3¢ 32 v'v'coordinates of B
x=2 v’substitution
B(2:0)
0-2 v’ Answer
m=
1
=—x-8
7y
4.4 m x) — 3" v’ Answer (1)
45 | y=log,x v'v'Answer )
46 | ye[-3:2) v'v Answer (2)
4.7
v'v'coordinates of C.
v'substitution
v Answer
4)
Area of AABC = %(4)(8)
=16 —units’
[16]
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QUESTION 5

5.1 -2
flx)=—"+q
xX+p . ;
—x+8=x+2 equating
x=3 )
y=-3+8 or y=3+2 p=-3
y=5
.'.p:—3 q:S (4)
52 )
X)=——=+5
/() x-3
-2
0= 5 B
= «0:—23+5
5(x-3)=-2 x-
> 2
x—%+3 1
11 (11 j : 3
x=— | — ;0| x—intercept
2 2
-2
=03 3)
Y703
_ (O 1—7j —int ercept
y=- Y D
5.3 - v'shape
Y |
: v'asymptotes
1
: v'x and y intercepts.
67
- — -3——-—--—-—-—-—-: —————————————— —
I A3)
2! x
0 HIFEE ’
1
]
|
| 1
[10]
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QUESTION 6

6.1.1| sin212" =sin(180" +32°) o
=—sin32° j:;ﬂﬁz
_ 7 @
6.1.2 tan(—32°)
v —tan32°
—tan32°
P v’ Answer ()
1-p°
6-1.3 1 cos(—482") = cos (482" +360° +360° ) Y formulae
=co0s 238’
= 005(180° " 58°) v'substitution
=—cos 58’
- p v’ Answer (3)
6.2 cos’ (90° + y)sin(lSOo - y)— sin(360° - y)cos2 y tan y )
cos(360° - y) vsin® y
v
sin’ y.sin y — (— sin y)0052 y Sty
cosy v —siny
sin’ y +sin y.cos’ y
cosy v cosy
sin y(sin2 y+oos y) v'common factor
cosy
sin (1) v'sin® y+cos’ y=1
cosy
tan y (6)
6.3.1| cosx ;sinx ;+/3sinx v sinx _ V3sinx
sinx J3sinx cosx sinx
cosx sinx
v tanx =~/3
tanx = \/5
x=60" v x=60
€)]
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6.3.2

c0s60° ;sin60’ V35in60°

v/ first three terms

1.3
5 iy iy
B Ir=
2 2
% .o
e ﬁ substitution
;((ﬁ)m _ 1) v Answer
§ —2~ J
10 V3-1 4)
S, =165,29
6.4 6sin*x—7cosx—5=0 v 1—cos® x

6(1—cos2 x)—7cosx—5=0
6—6cos’ x—Tcosx—5=0
—6¢cos’ x—Tcosx+1=0

6cosx+7cosx—1=0

T4y(7) - 4(6)(-1)

COSX =

v'standard form

v'substitution into
formula.

v'value(s) of cos x
v'N/A

2(6)
4T - v x=82,61" +£.360
COSX =—— " Or CosX=——1"— v x=27739 +k.360°
12 12 )
x=82,61° +k.360° N/ 4
x=27739"+k360, keZ (7)
[27]
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